
 

 

  CBR-MTSG-1_INST_5-25 

 

 

  

INSTALLATION INSTRUCTIONS  
VERTICAL CARGO BARRIER CBR-MSTG-1 
For 2021-2024 FORD MUSTANG MACH-E 

TOOLS REQUIRED: 
Panel removal tool   Standard Socket set   T-50 Torx 

Always! 

➢ Read all instructions before installing any Havis, Inc. products. 
➢ Use hardware provided with install kit  

 

PARTS and MOUNTING HARDWARE: 

QTY                               DESCRIPTION     PART# 

1               Driver Side Lower Bracket                26695 

1              Passenger Side Lower Bracket               26696 

1              Driver Side Upper Bracket               26697 

1              Passenger Side Upper Bracket               26698 

1              Cargo Barrier                  26699 

12              1/4-20 Hex Flange Serrated Nut               16013 

2              5/16” hex Flange Serrated Nut   16014 

4              1/4” x 1/2" Carriage Bolt                16222 

2               5/16” x 3/4” Carriage Bolt                16228 

        

 



 

 

  CBR-MTSG-1_INST_5-25 

 

 

 

  26695 

26696 

26699 

16014 

16228 26697 26698 

16222 

16013 

16013 



 

 

  CBR-MTSG-1_INST_5-25 

 

 

 

Carefully Remove Rear seat bottom by pulling up 

and then towards the front of the vehicle. 

Attach top corners with 5/16” x 3/4" carriage 

bolts and serrated nuts.  

Tighten all hardware. 

Place barrier into vehicle, attach bottom with (8) 

1/4" serrated nuts. 

Remove T-50 Torx bolts from driver and 

passenger side lower seat back brackets. 

Prior to placing barrier into the vehicle, remove C-

pillar trim and install upper barrier brackets into 

OEM slot with 5/16 carriage bolt and serrated nut. 

Install driver and passenger side lower brackets 

using OEM T-50 Torx. 


